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% ECES531 Spring 2011 HW1 Problem 1

% computer simulation of 100 shot basketball game

% _____________________________________________________
% Parameters

% _____________________________________________________

PA = 0.49; % probability team A makes a shot
PB = 0.51; % probability team B makes a shot
N = 100; % number of shots
iterations = 1e5; % number of iterations
Y ~mmm e e e
Awins = zeros(1,iterations);
for i=1:iterations,

A = rand(1,N)<PA;

B = rand(1,N)<PB;

X = sum(A);

Y = sum(B);

Z = X-Y;

if 2>0

Awins(i) = 1;

end

end

disp('Probability A wins:');
sum(Awins)/iterations
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